— iRk (3FH)

2R48 [#%E])
# s mam M A
AARXEH (HEER) 387 410 -23
AARXERH (ZERMER) 159 150 9
FEXFER (REEER) 8 9 -1
FEXER (B E) 25 43 -18
FARXER (HEER) 135 130 5
FAXEFER (ZFERMER) 81 72 9
BEFH(EER) 295 279 16
BEFH (ZRERMER) 127 78 49
EEFH(HEH) 37 37
EEFH (KERMER) 12 9 3
FESR L ZE R (AF ) (RERER) 91 79 12
FERXIEER (AAR) hEHR) 182 210 -28
FEREZRE(BAR) (RERMER) 65 44 21
FERxX{eER(BAX) HBER) 151 112 39
#HERFFHEER) 449 588 -139
#HERFFH (KERMEE) 193 159 34
HRAEFEFEH (EEER) 490 511 -21
HARFER (ZFERBAR) 147 146 1
PEEFRGRER) 58 59 -1
PEEZFR (ZERMER) 18 25 -7
REFH(EBER) 191 262 -71
REFR(ZERMER) 145 169 -24
AREFH (EEE) 35 48 -13
AREFH (ZERMBE) 18 16 2
FEEFERGRBE) 462 502 -40
EEFR(RERMER) 207 188 19
AFEREER) 233 178 55
BUaZ R (RERMER) 86 91 -5
EfREFRZER (RER) 152 144 8
EREFRZERE CGEREERER) 92 54 38
ERESEER REE) 90 69 21
ERXEF R GEREERER) 57 46 11
REFEmER) 988 1097 -109
BEFH (ZERMEE) 370 395 -25
AR—YRZER(HEER) 180 242 -62
AR—YRZER (RKEREE) 85 80 5
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BEMZEH(AFR) HER) 43 32 11
BEMZER(AAR) (KERBR) 14 14 0
BEREHBARX) (HEER) 15 32 -17
BEREH(BAR) (RERME) 12 17 -5
FEFZH(AFR) (RERMEE) 39 33 6
FEFEHAAR) HEER) 97 84 13
FEERBAR) HER) 17 26 -9
FEFZHBAR) (KERMER) 10 11 -1
#HE=FH(AFK) (HER) 160 176 -16
#eFEH (AR GRERER) 97 75 22
2R BARX) HER) 278 266 12
#HEZRBAR) (KERMER) 149 133 16

a5t 7432 7630 -198
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